



Available online at <http://scik.org>

J. Math. Comput. Sci. 2 (2012), No. 3, 725-733

ISSN: 1927-5307

## A STUDY ON HILBERT'S INTEGRAL INEQUALITY AND ITS APPLICATIONS

W. T. SULAIMAN \*

Department of Computer Engineering, College of Engineering, University of Mosul, Mosul, Iraq

**Abstract.** In this paper, we presented as follows

Let  $f, g, h, k \geq 0$ ,  $h$  is homogeneous and symmetric of degree  $\lambda$  and  $F(x, y) = 1 - k(x) + k(y) \geq 0$ .

Then

$$\begin{aligned} & \left( \int_0^\infty \int_0^\infty \frac{f(x) g(y) \left| \ln \frac{x}{y} \right|^\mu}{h(x, y)} dx dy \right)^4 \\ & \leq \left( \left( C \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx \right)^2 \right) \\ & \quad \times \left( \left( C \int_0^\infty x^{1-\lambda} g^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} g^2(x) dx \right)^2 \right), \end{aligned}$$

where

$$C = \int_0^\infty \frac{t^\lambda |\ln t|^\mu}{h(1, t)} dt, \quad C(x) = \int_0^\infty \frac{k(xt) t^\lambda |\ln t|^\mu}{h(1, t)} dt,$$

provided the integrals on the RHS do exists.

Some other special cases are also deduced.

**Keywords:** Hilbert's integral inequality; Holder's inequality; weight function.

**2000 AMS Subject Classification:** 26D15

---

\*Corresponding author

E-mail address: [waadsulaiman@hotmail.com](mailto:waadsulaiman@hotmail.com) (W. T. Sulaiman)

Received December 22, 2011

## 1. Introduction

If  $f, g \geq 0$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $0 < \int_0^{\infty} f^p(x) dx < \infty$ ,  $0 < \int_0^{\infty} g^q(x) dx < \infty$ , then

$$\int_0^{\infty} \int_0^{\infty} \frac{f(x)g(y)}{x+y} dx dy \leq \frac{\pi}{\sin(\pi/p)} \left( \int_0^{\infty} f^p(x) dx \right)^{1/p} \left( \int_0^{\infty} g^q(x) dx \right)^{1/q} \quad (1)$$

where the constant factor  $\frac{\pi}{\sin(\pi/p)}$  is the best possible. Many mathematicians presented generalizations or new kinds of Hardy-Hilbert's inequality (1). Hardy inequality is very important in analysis theory and applications, it has been absorbing much interest of analysis see ([1], [2]) .

Very recently P. X. Ying and G. Mingzhe (see [3]) proved the following new kind

**Theorem 1.1.** *Let  $f(x)$  be a real function. If  $0 < \int_0^{\infty} f^2(x) dx < \infty$ , then*

$$\left( \int_0^{\infty} \int_0^{\infty} \frac{f(x)f(y)}{x+y} dx dy \right)^2 < \pi^2 \left( \left( \int_0^{\infty} f^p(x) dx \right)^2 - \left( \int_0^{\infty} \omega(x) f^p(x) dx \right)^2 \right), \quad (2)$$

where  $\omega(x) = \frac{1}{1+\sqrt{x}} - \frac{1}{1+x}$ .

## 2. Lemmas

The following lemma are needed for our aim

**Lemma 2.1.** *Let  $S(x, y)$  be symmetric. Then*

$$\int_0^{\infty} \int_0^{\infty} S(x, y) F(x, y) dx dy = \int_0^{\infty} \int_0^{\infty} S(x, y) dx dy \quad (3)$$

where  $F(x, y) = 1 - k(x) + k(y)$  .

**Proof.**

$$\begin{aligned}
 & \int_0^\infty \int_0^\infty S(x, y) F(x, y) dx dy \\
 &= \int_0^\infty \int_0^\infty S(x, y) (1 - k(x) + k(y)) dx dy \\
 &= \int_0^\infty \int_0^\infty S(x, y) dx dy - \int_0^\infty \int_0^\infty S(x, y) k(x) dx dy + \int_0^\infty \int_0^\infty S(x, y) k(y) dx dy \\
 &= \int_0^\infty \int_0^\infty S(x, y) dx dy - \int_0^\infty \int_0^\infty S(x, y) k(x) dx dy + \int_0^\infty \int_0^\infty S(y, x) k(x) dy dx \\
 &= \int_0^\infty \int_0^\infty S(x, y) dx dy - \int_0^\infty \int_0^\infty S(x, y) k(x) dx dy + \int_0^\infty \int_0^\infty S(x, y) k(x) dx dy \\
 &= \int_0^\infty \int_0^\infty S(x, y) dx dy.
 \end{aligned}$$

**Lemma 2.2**[3].

$$\int_0^\infty \frac{du}{(1+xu^2)(1+u^2)} = \frac{\pi}{1+\sqrt{x}}. \tag{4}$$

**Lemma 2.3**[4]. *Let  $0 < \alpha < 1$ ,  $s$  is a non-negative integer. Then*

$$\int_0^\infty \frac{t^{\alpha-1}}{1+t} \left(\ln \frac{1}{t}\right)^{2s} dt = (2s)! (\xi(2s+1, \alpha) + \xi(2s+1, 1-\alpha)), \tag{5}$$

where  $\xi(s, \alpha) = \sum_{k=0}^\infty \frac{(-1)^k}{(\alpha+k)^s}$ .

The object of this paper is to present the following general result

### 3. Main results

**Theorem 3.1.** Let  $f, g, h, k \geq 0$ ,  $h$  is homogeneous and symmetric of degree  $\lambda$  and  $F(x, y) = 1 - k(x) + k(y) \geq 0$ . Then

$$\begin{aligned} & \left( \int_0^\infty \int_0^\infty \frac{f(x) g(y) \left| \ln \frac{x}{y} \right|^\mu}{h(x, y)} dx dy \right)^4 \\ & \leq \left( \left( C \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx \right)^2 \right) \\ & \quad \times \left( \left( C \int_0^\infty x^{1-\lambda} g^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} g^2(x) dx \right)^2 \right) \quad (6) \end{aligned}$$

where

$$C = \int_0^\infty \frac{t^a |\ln t|^\mu}{h(1, t)} dt, \quad C(x) = \int_0^\infty \frac{k(xt) t^a |\ln t|^\mu}{h(1, t)} dt,$$

provided the integrals on the RHS do exists.

**Proof.**

$$\begin{aligned} & \int_0^\infty \int_0^\infty \frac{\left| \ln \left( \frac{x}{y} \right) \right|^\mu f(x) g(y) F(x, y)}{h(x, y)} dx dy \\ & = \int_0^\infty \int_0^\infty \frac{\left| \ln \left( \frac{y}{x} \right) \right|^{\frac{\mu}{2}} f(x) \sqrt{F(x, y)}}{\sqrt{h(x, y)}} \times \frac{\left| \ln \left( \frac{x}{y} \right) \right|^{\frac{\mu}{2}} g(y) \sqrt{F(x, y)}}{\sqrt{h(x, y)}} dx dy \\ & \leq \left( \int_0^\infty \int_0^\infty \frac{\left| \ln \left( \frac{y}{x} \right) \right|^\mu f^2(x) F(x, y)}{h(x, y)} dx dy \right)^{1/2} \left( \int_0^\infty \int_0^\infty \frac{\left| \ln \left( \frac{x}{y} \right) \right|^\mu g^2(y) F(x, y)}{h(x, y)} dx dy \right)^{1/2} \\ & = \sqrt{M} \sqrt{N}. \end{aligned}$$

$$\begin{aligned}
 M &= \int_0^\infty \int_0^\infty \frac{|\ln(\frac{y}{x})|^{\frac{\mu}{2}} f(x) \sqrt{F(x,y)}}{\sqrt{h(x,y)}} \left(\frac{y}{x}\right)^{\alpha/2} \times \frac{|\ln(\frac{x}{y})|^\mu f(x) \sqrt{F(x,y)}}{\sqrt{h(x,y)}} \left(\frac{x}{y}\right)^{\alpha/2} dx dy \\
 &\leq \left( \int_0^\infty \int_0^\infty \frac{|\ln(\frac{y}{x})|^\mu f^2(x) F(x,y)}{h(x,y)} \left(\frac{y}{x}\right)^\alpha dx dy \right)^{1/2} \\
 &\times \left( \int_0^\infty \int_0^\infty \frac{|\ln(\frac{x}{y})|^\mu f^2(x) F(x,y)}{h(x,y)} \left(\frac{x}{y}\right)^\alpha dx dy \right)^{1/2} \\
 &= \sqrt{M_1} \sqrt{M_2}.
 \end{aligned}$$

$$\begin{aligned}
 M_1 &= \int_0^\infty \int_0^\infty \frac{|\ln(\frac{y}{x})|^\mu f^2(x) (1 - k(x) + k(y))}{h(x,y)} \left(\frac{y}{x}\right)^\alpha dx dy \\
 &= \int_0^\infty |\ln(\frac{y}{x})|^\mu f^2(x) (1 - k(x)) \int_0^\infty \frac{(y/x)^\alpha}{h(x,y)} dy dx \\
 &\quad + \int_0^\infty |\ln(\frac{y}{x})|^\mu f^2(x) \int_0^\infty \frac{k(y) (y/x)^\alpha}{h(x,y)} dy dx \\
 &= \int_0^\infty x^{1-\lambda} (1 - k(x)) f^2(x) \int_0^\infty \frac{u^\alpha |\ln u|^\mu}{h(1,u)} du dx \\
 &\quad + \int_0^\infty x^{1-\lambda} f^2(x) \int_0^\infty \frac{u^\alpha |\ln u|^\mu k(xu)}{h(1,u)} du dx \\
 &= C \int_0^\infty x^{1-\lambda} f^2(x) dx - \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx.
 \end{aligned}$$

Similarly,

$$M_2 = C \int_0^\infty x^{1-\lambda} f^2(x) dx + \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx.$$

Therefore

$$M^2 = \left( C \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx \right)^2,$$

and

$$N^2 = \left( C \int_0^\infty x^{1-\lambda} g^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} g^2(x) dx \right)^2,$$

Applying Lemma 2.1 to have

$$\begin{aligned} & \left( \int_0^\infty \int_0^\infty \frac{f(x) g(y) \left| \ln \frac{x}{y} \right|^\mu}{h(x, y)} dx dy \right)^4 = \left( \int_0^\infty \int_0^\infty \frac{f(x) g(y) \left| \ln \frac{x}{y} \right|^\mu F(x, y)}{h(x, y)} dx dy \right)^4 \\ & \leq \left( \left( C \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx \right)^2 \right) \\ & \quad \times \left( \left( C \int_0^\infty x^{1-\lambda} g^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} g^2(x) dx \right)^2 \right). \end{aligned}$$

### 4. Applications

**Corollary 4.1.** *Let  $f, h, k \geq 0$ ,  $h$  is homogeneous and symmetric of degree  $\lambda$  and  $F(x, y) = 1 - k(x) + k(y) \geq 0$ . Then*

$$\begin{aligned} & \left( \int_0^\infty \int_0^\infty \frac{f(x) f(y) \left| \ln \frac{x}{y} \right|^\mu}{h(x, y)} dx dy \right)^2 \\ & \leq \left( \left( C \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx \right)^2 \right) \end{aligned} \tag{7}$$

where

$$C = \int_0^\infty \frac{t^\lambda |\ln t|^\mu}{h(1, t)} dt, \quad C(x) = \int_0^\infty \frac{k(xt) t^\lambda |\ln t|^\mu}{h(1, t)} dt,$$

provided the integrals on the RHS do exists.

**Proof.** The proof follows from theorem 3.1 by putting  $g = f$ .

**Corollary 4.2.** Let  $f, h, k \geq 0$ ,  $h$  is homogeneous and symmetric of degree  $\lambda$  and  $F(x, y) = 1 - k(x) + k(y) \geq 0$ . Then

$$\left( \int_0^\infty \int_0^\infty \frac{f(x) f(y) \left| \ln \frac{x}{y} \right|^\mu}{(x+y)^\lambda} dx dy \right)^2 \leq \left( \left( C \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx \right)^2 \right) \quad (8)$$

where

$$C = \int_0^\infty \frac{t^a |\ln t|^\mu}{h(1, t)} dt, \quad C(x) = \int_0^\infty \frac{k(xt) t^a |\ln t|^\mu}{h(1, t)} dt,$$

provided the integrals on the RHS do exists.

**Proof.** The proof follows from corollary 4.1 by putting  $h(x, y) = (x + y)^\lambda$ .

**Corollary 4.3.** Let  $f, h, k \geq 0$ ,  $h$  is homogeneous and symmetric of degree  $\lambda$  and  $F(x, y) = 1 - k(x) + k(y) \geq 0$ . Then

$$\left( \int_0^\infty \int_0^\infty \frac{f(x) f(y) \left| \ln \frac{x}{y} \right|^\mu}{x^\lambda + y^\lambda} dx dy \right)^2 \leq \left( \left( C \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty (Ck(x) - C(x)) x^{1-\lambda} f^2(x) dx \right)^2 \right) \quad (9)$$

where

$$C = \int_0^\infty \frac{t^a |\ln t|^\mu}{h(1, t)} dt, \quad C(x) = \int_0^\infty \frac{k(xt) t^a |\ln t|^\mu}{h(1, t)} dt,$$

provided the integrals on the RHS do exists.

**Proof.** The proof follows from corollary 4.1 by putting  $h(x, y) = x^\lambda + y^\lambda$ .

**Corollary 4.4** [3]. *Let  $f, g \geq 0$ . Then*

$$\begin{aligned} & \left( \int_0^\infty \int_0^\infty \frac{f(x)g(y)}{h(x,y)} dx dy \right)^4 \\ \leq & \pi^4 \left( \left( \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty \omega(x) f^2(x) dx \right)^2 \right) \\ & \times \left( \left( \int_0^\infty x^{1-\lambda} g^2(x) dx \right)^2 - \left( \int_0^\infty \omega(x) g^2(x) dx \right)^2 \right) \quad (10) \end{aligned}$$

*provided the integrals on the RHS do exists.*

**Proof.** The proof follows from theorem 3.1 via Lemma 2.2, by putting

$$h(x, y) = x + y, \quad a = -1/2, \quad \lambda = 1, \quad \mu = 0, \quad k(x) = 1/(1 + x),$$

as follows

$$C = \int_0^\infty \frac{u^{-1/2}}{1+u} du = 2 \int_0^\infty \frac{du}{1+u^2} = \pi.$$

$$C(x) = \int_0^\infty \frac{k(xu) u^{-1/2}}{1+u} du = \int_0^\infty \frac{k(xu^2)}{1+u^2} du = \int_0^\infty \frac{du}{(1+xu^2)(1+u^2)} = \frac{\pi}{1+\sqrt{x}},$$

and

$$Ck(x) - C(x) = \pi \left( \frac{1}{1+x} - \frac{1}{1+\sqrt{x}} \right).$$

**Corollary 4.5.** *Let  $f, g \geq 0$ ,  $0 < \alpha < 1$ ,  $s$  is a non-negative integer, Then*

$$\left( \int_0^\infty \int_0^\infty \frac{|\ln\left(\frac{x}{y}\right)|^\mu f(x) f(y)}{h(x,y)} dx dy \right)^2 \leq C^2 \int_0^\infty f^2(x) dx \int_0^\infty g^2(x) dx, \quad (11)$$

where

$$C = (2s)! (\xi(2s+1, \alpha) + \xi(2s+1, 1-\alpha)),$$

*provided the integrals on the RHS do exists.*

**Proof.** The proof follows from Theorem 3.1 via Lemma 2.3 by putting

$$h(x, y) = x + y, \quad a = \alpha - 1, \quad \mu = 2s, \quad k(x) = 1, \quad \lambda = 1.$$

**Acknowledgment:** The author is so grateful to the referee who corrected many typing mistakes in the paper.



## REFERENCES

- [1] G. H. Hardy, J. E. Littlewood, G. Polya, *Inequalities*, Cambridge University Press, Cambridge, 1952.
- [2] J. E. Mitronovic, J. E. Pecaric, and A. M. Fink, *Inequalities Involving Functions and Their Integrals and Derivatives*, Boston Kluwer Academic Publishers, 1991.
- [3] P. X. Ying, G. Mingzhe, On Hilbert's integral inequality and its applications, *Math. J. Appl.* Preprint.
- [4] G. Mingzhe, Some new Hardy-Hilbert type inequalities and applications, Preprint.